
20 40 60 80 100 120 140

−
3

−
2

−
1

0
1

Cluster: 0161 ptr; resid: 0.15; r/c: 14/76

x.range

upstream meme PSSM #1; e=2.2e+04

1 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16

x.range

y.
ra

ng
e

upstream meme PSSM #2; e=1.2e+05

1 3 5 7 9 11 131 3 5 7 9 11 13
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4395644165

33588

37787

4344

43823

47397

47965

48674

49269

49467

49507

50016

50365

string −500 −400 −300 −200 −100 −1

43823−0.22

47397−0.27

43956−0.30

49507−1.31

48674−1.67

4344−1.76

37787−1.83

47965−4.39

33588−4.41

49467−5.14

50365−6.20

50016−8.34

49269−9.06

44165−9.10

log10(P) upstream meme1 2 log10(P.clust)=−3.86; 14 seqs; 14 uniq
c(0.5, 2.5)
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